1. Zeta Functions

$$F_{q}, \quad g = p^{\alpha}, \quad p \quad prime$$

$$f(x_{1}, ..., x_{n}) \in F_{q}[x_{1}^{\pm 1}, ..., x_{n}^{\pm 1}]$$

$$U_{f} = \{(x_{1}, ..., x_{n}) \in F_{m}^{n} \mid f(x) = 0\}$$

$$U_{f}(F_{q}) = \{(x_{1}, ..., x_{n}) \in F_{q}^{n} \mid f(x) = 0\}$$

$$U_{f}(F_{gk}), k=1,2,3...$$

$$Def_{Z}(U_{f},T)=exp(\sum_{k=1}^{\infty}F^{*}U_{f}(F_{gk}))$$

$$C_{gk}(U_{f},T)=exp(\sum_{k=1}^{\infty}F^{*}U_{f}(F_{gk}))$$

Basic Properties / Questions.

1)
$$Z(U_{\varsigma},T) \in Q(T)$$
.

 $Z(U_{\varsigma},T) = \frac{d_{\varsigma}}{d_{\varsigma}} \frac{1-d_{\varsigma}T}{(1-d_{\varsigma}T)}$
 $Z(U_{\varsigma},T) = \frac{d_{\varsigma}}{d_{\varsigma}} \frac{1-d_{\varsigma}T}{(1-d_{\varsigma}T)}$

$$\exists \psi_{i}(\overline{h_{jk}}) = \frac{(z^{k-1})^{n} + (-1)^{n+1}}{z^{k}} + (-1)^{n+1}(z^{k} + z^{k} + \cdots + z^{k})$$

$$\Rightarrow |z^{i}| \leq z^{n-1}$$

$$\Rightarrow |z^{i}| \leq z^{n-1}$$

$$\Leftrightarrow |z^{i}| = z^{n-1}$$

$$\Leftrightarrow |z^{i}| =$$

- 4). How sig and Z(Vf, T) vary or f varies?
- 5) What more can be said about 210s.T) if f is a CY.

2. L-function of exp sums.

Let
$$\psi$$
: $\mathbb{F}_{p} \longrightarrow \mathbb{C}^{*}$
 $x \longrightarrow \exp(\frac{2\pi i x}{p})$
 $\mathbb{F}_{g} \xrightarrow{\mathbb{F}_{p}} \mathbb{F}_{p} \xrightarrow{\psi} \mathbb{C}^{*}$
 $f_{g} \xrightarrow{\mathbb{F}_{p}} \mathbb{F}_{p} \xrightarrow{\psi} \mathbb{C}^{*}$
 $f_{g} \xrightarrow{\mathbb{F}_{p}} \mathbb{F}_{p} \xrightarrow{\psi} \mathbb{F}_{p} \xrightarrow{\psi} \mathbb{F}_{p} \xrightarrow{\chi} \mathbb{F}$

$$\underline{Def} \quad L(x,f,T) = \exp\left(\sum_{k=1}^{\infty} \frac{T^k}{k} S_k(x,f)\right)$$

$$\Rightarrow$$
 $\geq (v_f, gT) = \geq (G_m, T) \cdot L(x_0 f, T)$

3. Dwork's p-adic character.

Def The Artin - Hasse series
$$E_{p}(T) = \exp\left(T + \frac{T^{p}}{p} + \frac{T^{p^{2}}}{p^{2}} + \cdots\right)$$

$$= \prod_{\substack{(k,p)=1}} \left(1 - T^{k}\right)^{-\frac{M(k)}{k}} \quad \mathcal{U} = \text{H\"obius}.$$

$$\in 1 + T\left(\mathbb{Z}_{p} \cap \mathcal{R}\right) \text{ CCT} \right].$$

$$\Rightarrow E_{p}(T) \quad \text{converges} \quad \text{in} \quad (T^{p} < 1, N^{p}) \quad \text{on} \quad |T^{p} \leq 1.$$

Def. Let
$$\Pi$$
 be a fixed not of $T + \frac{T^p}{p} + \frac{T^{p^2}}{p^2} + \dots = 0$ in \mathbb{Z}_p

s.t. $ad_p(\Pi) = \frac{1}{p-1}$ (exactly $p-1$ such nots)

 $a_p(\Pi) = \mathbb{Z}_p(S_p)$, Π is a uniformizar. $\Pi \sim 1 - S_p$
 $Def.$ $O(T) = E_p(\Pi T)$ is conveyat in $|T| < p^{\frac{1}{p-1}}$.

 $= 1 + \Pi T + \dots$

4.
$$p$$
-adic rep of $S_{R}(x_{0}f)$.

Write $x_{0}f = \int_{j=1}^{J} \overline{a_{j}} x_{0} x^{V_{j}}$, $\overline{a_{j}} \in F_{g}$.

 $\in F_{g}(x_{0}, x_{1}^{\pm 1}, \cdots x_{n}^{\pm 1})$.

 $e \in F_{g}(x_{0}, x_{1}^{\pm 1}, \cdots x_{n}^{\pm 1})$.

$$S_{k}(x_{0}f) = \frac{\sum_{\vec{x}_{i} \in F_{q^{k}}} \psi_{0} \text{ Tr}_{F_{q^{k}}/F_{p}}(x_{0}f)}{\sum_{\vec{x}_{i} \in F_{q^{k}}} \psi_{0} \text{ Tr}_{F_{q^{k}}/F_{p}}(x_{0}f)}$$

$$= \frac{\sum_{\vec{x}_{i} \in F_{q^{k}}} \psi_{0} \text{ Tr}_{F_{q^{k}}/F_{p}}(x_{0}f)}{\sum_{\vec{x}_{i} \in F_{q^{k}}} \psi_{0}(x_{0}f)}$$

$$= \frac{\sum_{\vec{x}_{i} \in F_{q^{k}}} \psi_{0} \text{ Tr}_{F_{q^{k}}/F_{p}}(x_{0}f)}{\sum_{\vec{x}_{i} \in F_{q^{k}}} \psi_{0}(x_{0}f)}$$

$$= \frac{\sum_{\vec{x}_{i} \in F_{q^{k}}} \psi_{0} \text{ Tr}_{F_{q^{k}}/F_{p}}(x_{0}f)}{\sum_{\vec{x}_{i} \in F_{q^{k}}} \psi_{0}(x_{0}f)}$$

$$= \frac{\sum_{\vec{x}_{i} \in F_{q^{k}}} \psi_{0} \text{ Tr}_{F_{q^{k}}/F_{p}}(x_{0}f)}{\sum_{\vec{x}_{i} \in F_{q^{k}}} \psi_{0}(x_{0}f)}$$

$$= \frac{\sum_{\vec{x}_{i} \in F_{q^{k}}} \psi_{0}(x_{0}f)}{\sum_{\vec{x}_{i} \in F_{q^{k}}} \psi_{0}$$

$$S_{k}(x_{0}f) = \frac{\sum_{\vec{x}_{i}} e^{\frac{x}{k}}}{\vec{x}_{i}} \quad \stackrel{\text{ψ}}{\text{V}} \quad \stackrel{\text{v}}{\text{f}}_{\vec{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}}} (x_{0}f)$$

$$= \frac{\sum_{\vec{x}_{i}} e^{\frac{x}{k}}}{\vec{x}_{i}} \quad \stackrel{\text{ψ}}{\text{f}}_{\vec{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}}} (x_{0}f)$$

$$= \frac{\sum_{\vec{x}_{i}} e^{\frac{x}{k}}}{\vec{x}_{i}} \quad \stackrel{\text{f}}{\text{f}}_{\vec{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}}} (x_{0}f)$$

$$= \frac{\sum_{\vec{x}_{i}} e^{\frac{x}{k}}}{\vec{x}_{i}} \quad \stackrel{\text{f}}{\text{f}}_{\vec{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}}} (x_{0}f)$$

$$= \frac{\sum_{\vec{x}_{i}} e^{\frac{x}{k}}}{\vec{x}_{i}} \quad \stackrel{\text{f}}{\text{f}}_{\vec{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}}} (x_{0}f)$$

$$= \frac{\sum_{\vec{x}_{i}} e^{\frac{x}{k}}}{\vec{x}_{i}} \quad \stackrel{\text{f}}{\text{f}}_{\vec{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}}} (x_{0}f)$$

$$= \frac{\sum_{\vec{x}_{i}} e^{\frac{x}{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}}} (x_{0}f)$$

$$= \frac{\sum_{\vec{x}_{i}} e^{\frac{x}{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}}} (x_{0}f)$$

$$= \frac{\sum_{\vec{x}_{i}} e^{\frac{x}{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}}} (x_{0}f)$$

$$= \frac{\sum_{\vec{x}_{i}} e^{\frac{x}{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}}} (x_{0}f)$$

$$= \frac{\sum_{\vec{x}_{i}} e^{\frac{x}{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}}} (x_{0}f)$$

$$= \frac{\sum_{\vec{x}_{i}} e^{\frac{x}{k}} / \stackrel{\text{f}}{\text{f}}_{\vec{k}}} (x_{0}f)$$